voltage current

2,9 0,28 1,85 2,7
2,93 0,3 1,49 2,71
2,95 0,33 1,25 2,72
2,95 0,36 1,14 2,72
2,98 0,42 1,05 2,7
3,06 0,47 0,95 2,71
2,94 0,5 0,86 2,71
2,96 0,57 0,76 2,72

3 0,65 0,67 2,74
3,01 0,84 0,46 2,73
0,36 2,73

0,27 2,76

r -0,081 1,554 emf

estimated error on the resistance 0,005 0,004 estimated error on the en

R2 0,958 0,007 error on estimation of V

248,888 11 number of data used

0,011 0,000



nf

1,29
1,12
0,98
0,87
0,74
0,65
0,54
0,46
0,36
0,26
0,22
0,19
0,15

1,45
1,47
1,48
1,48
1,49
1,49
1,50
1,51
1,53
1,53
1,54
1,54
1,55

2,78
2,77
2,76

2,75

\
!\)
~
N

Voltage /
N
!

N
~
N

2,71
2,7
2,69

2,68

Voltage / V
-
(03]

Ist atterr

0,2

04

2nd atterr

‘E++++ .....

0,2

04



1pt to measure the internal resistance

R2=0,5819

0,6 0,8 1 1,2 1,4 1,6 1,8 2
Current / A

1pt to measure the internal resistance

Vo d

y=-0,0813x% 1:5536.+
R2=0,9577

Current / A



